W ok = 4 % B % W
HERESEER

ZAEMR (—) : 3.
— LW : :
2.48 72 !
3.37 f :
4.5 E :
5. 524 :
6.> < = > = <
—1V 2.x 3.V 4V 5x ! oW
=.1.C 22A 3.B 4.C 5B FL L 5 mE
mM.1.30 10 200 32 21 15 : 2 D
2.160 58 107----5 : 3. W%
3.30 25 16 . BEE
F.L (1)x 25x4x2=200( %) I m
(2)x  160+4x7=280( R ) f
(3)x  256:(2x4)=32( %) : Y
2. 640:2x5=1600( T.) 717+3x4=956(F %.) : FAFH(=)
L 306:0-44(% £) . —.1.294 200 80 10 4 506 400 60 40 6
. 3 : 2.2380 2380 23800
2. 113-28=85(7.),85+5=17(T.) 3 =
3. 153:5=30( AN )-++++3(F %) 30+1=31(A>) . 43 3
4. (1% (2)15+3x8=40(T.) ; B.> = > <
5. 640+8x9=720( % ) : 6. 2000
BEE : 7. 384
70:2=35( A),35x(5-2)=105( 3k ) ; Zlx 2x 3V 4V 5x 6V
2\ E () . =.1.B 2.C 3.B 4.C 5A 6.C 7.A
—1V %V | 79,1.3000 350 220 930 840 780 900
s A O A f 1000 1600
! 2.558 2520 1020
—.1A 2B 3A 4B 5C 6A 5 3 1140 364 2790
=1 5F 6 LR
2./ 5 :
M.1. % 2.4.6.7.8 T 2HIXTFRETE . 2 624 2075
2 | .1 15x60=900( F %)

>%< X E 2. (1)24x45=1080(#%)
: (2)72x15=1080( 5t.)

SERHEFE O FL1m(H4m)



3.
4.

21x26=546(4~),546>500, [K %
(1)36x15=540( )

(2)45-36=9( % ),1 2 HFl 9 7 ZIMA K
WA S RS o2 R S A B
20x(9+1)=200(7T.)

(36-1)x15=525(T.)

525+200=725( 7T )

BE@E A=3,B=8

F A FEA (M)

—. 1™ I

2.
3.
4.
5.
6.
7.

P X P
< = < < > =
T B8 H
g

4

736

~1A 2A 3.C 4A 5B 6.C
=1V 2.x 3V 4.x 5x 6.V
M.1.30 221 31 230 90 640 190 111

2.

4.
EaN

1176 1560 44 1021 918 190--+- 1
.90-+++-2 450
35 24 106 6408

75 1. 321:3=107(4> ) ;660+6=110(A™)

2.
3.
4.

75x30=2250( F % )
960+4+6=40( A& )
18x30+5=108(£&")

SE R R E RN TG v B A ;
fif 4. 133+7=19( & );
T4 ) AEAE: 110+5=22(3k ),

FAEN (R )

—\l.\/ X X X

2. 1380 13800 13800

3< = > < < >

4,21 100 60 324 0 1440

5.3 2

6. 20

7.F 4 4 6

8. O

[11 11

1B 2A 3.C 4B 5A
Adx 2.x 3.x 4V 5x

Pq.1.40 31 880 9600 300 840

2.
3.

135 2632 86----- 2
576 81 71

=ERHF

(&3]

a b~ N P

. 204 918
. 105x5+3=175(A>)

780+4+3=65( A )

. 25x23=575(A)

. 843+:7=120( A )-++-+ 3(A)

. 175+7x30=750( X )

. 336:4=7=12(%)

. (1)4bifr 11x55=605( F * ),605-600=5( F * )

(2) 1 & i
55x8=440( k) 450-440=10(F:*k)

54x63=3402 798+6=133 &} 828+6=138

I
4
[N

4

4
WNPRP PPN

]Elllll

e g
F A MR (77)
wo T T

.600g 1600y 4Kg

mook o ok T

. 4000 7 8 8000 9 6000
. 1000 1

x 22V 3.x 4V 5V 6.x
A 2.C 3.C 4B 5C 6.B
< > < = = >
8

T3 150 50 —FE

/AR

. (1)500+400+200=1100( F %), 1100 T 5E>1 M,

P ARE

(2)BR/NFIVINE—[Rl A 2 o AT A
/NSRRI SR R B

(3)Mitk

. 22x9=198(wk. ), 200 Mfi>198 nii, [K A fE
C(1)34+8=42(F %)

(2585 KK KK

. 39x25=975(F %,),975 T-7a<1 Wi, I A E
. 80+100+200x4=980( -F %,),980 T 7a<1 mii,

IBAT

i : 200x3=600( %)
FOIf : 600x2=1200( %)

FA I (£)
— LBk Ik K
2.11 6
3.100 4
4.4 500 3 3000
5.4 18
E2T(#4m)



6.32 64 7 1
5. L 4
7.9 400 9 7
8. 18 ; 6.7 1
—1x 2x 3V 4x 5x 6.x ' 7.3
=.1B 2B 3C 4C 5B ' g L 1 1
R 6 8 13
) \ Z.1x 2x 3V 4x 5V
KIBX| RIEER |@RFHEER BAKIER 5 3 1 1
=1 5> 5>
12 1 12 26 ; 878 374
6 2 12 16 2. g > <
4 3 12 14 3. Wit
423 5 8 3 2 1
H.1 (1)@ (2)74 "9 9 9 8 8 8
2. Ji K :4x4=16(5 K ) s T : 4x4=16(F- 7 5K ) 2 4 2 4 6 5 6 6 5
JiH : (8+45)x2=26( 2 K ) ; T F . 8x5=40( -F 7 v 7 7 17 17 1 17 1 7
JZK) 1
A1 24:4=6( k) ,6x6=36(F % K ) : !
2. (32-18)x18=252(F 7 4% ) . IT_EI\% % g gi % 1 % elT 01 2
3. 9x6=54( F 7 % ),5x3=15(F 7 % ),54-15=39 3051 4) 3
(FF k) ”
H.L (D4 (2)4 (3)3
4. (1)16-2=14( % ),8-2=6( K ),14x6=84(-F7 k) (1)4 {2)4 (3)
. 2. (1)9
(2)44 Hh : .
BEM  25:5=5(K),56+8=7(k),7x5=35(FF k) . (2>§ 5
=R DAN ! (3)0%
—\l.\/ x x V.V x V x : 1.3 4
3 —+2 =8
2. W% 9 99
33 3 A eIl T
4.% : 5 5
—.1B 2B 3C 4B : 5 1434 1. 4.4
_ . 8 8 8 8 8
=B ;
M1 @ @ © %K%K @ © @ ;

)% F F ® : 1-3=3 124 4.3 i1 T TR

6 6 6 6 6 6
(M SRO% fihi 59 R B LR R 1 T (9% LN 7 s .2
S T 7] AER N B T IO L LU/ B T 0 3

Nis Vivi N1d P= e —_ ﬁ%&&go
4. M5 J/NE %, 4 g, — 6w 2 1220 oo gy A
5. 103K 8 AE,2 K 6 A TR R
e 2. 34
WORT BLBE 5 VI 2 R 2 o ki O P
g . —.1.8 5 7 6
(BZERefp—) x
AT (S ) > % X
— LT S SR % X X %
25 L ppz= apz= x5 % 5
"7 8 o - _2 3< X X
1 2 ,,v
53 3 & 2 %? :ST
4.6 5 3. ()EE—ANE“N 5 —ANE“x” (2)1 (3)13

—FEREE FEIM(F4m)



X X
X
1 R SR SR A B AR

85 868.7888990919293 9495969.7 98 9.9100 101102103

2.8
3.2
Mai1.2 3 5 4 8 14 12
2. 2+43+5+4+8+14+12=48(1)
3. NS AT ) B2, 32
N VE 93
4. %
F.115 9 12 20 4
2. N2 ERBET
3. &
731 %
2. BHAECEE NSRRI 19 A%, 2% T 10047 ;
B S R2ZIE 25 SR, 5T 72 4%,

FX XXX
FXX XX
FXX
XX XX
XX
XX
XX

3. 20 %
BEm

28+23-15=36( A.),40-36=4( A)
AR (+—)

—.1.4 4

3 2 1
“2 5 6
3.6 500 2
4.3000 1200
5.20 16

3 1
°5 7

2
7. =

6
8. 36
9. /K

—Jdx 2x 3V 4N 5V
=.1B 2A 3A 4B 5C 6C

fq.1.40 200 4000 780 480 2 1 605

9
2.833 1980 120------ 2 66 5
& W
75.1. 16x32+78=590(T)
2.192:4+6=8(T)
3. 18x5022=450(F %)
4 2 _6 _6_1
4, (1)7+7—7 (2)1 7 =7
5. 54+3=18(k ), 18x18=324(F7 k)
= ERHE

6.
ZHE1L 0 4% 4 4 20 =& | 1600 7T
FE2 2 4% 3 4m 21 =% | 1800 7T
FHE3 4 4% 2 4 22 7% | 2000 7T
v X 5 4% 1 4m 20 =& | 1900 T
ZHES 7 4% 0 4 21 = | 2100 7T

FH 2 S A L R A R, L4 J2 460 JT
FAFEN (+2)

_ 1 2 3

R N

2. POk ok Pk Wi
<< < => >

4.x V x

5. 4400 4400 55 550

6. i

7. 32

8. H 3

—Jdx 2x 3V 4V 5x
=.1B 2B 3A 4C 5C

m.1. 2 810 2000 30 % 3 500 80

8 10
2.120 696 152 1786
3.3000 60 28

.10
2. TLLm AR ATRE R « 1 5 JEOK, B 1 DR A

T K 4 K, 5% 2 R K FIE; i1kl 3
JEKPIE R TE . (@ Eeg)
TR ) e : 5x1=5(F 75 B K ) ;4x2=8(F 7 &
K );3x3=9(F 7 K ),
.(1)12 (2)8 (3)6

1.3 3 1_2

1
S I D RS

3. 94x17=1598(F %)

4. 309+3=103( . ),220+2=110( . ), 408 +4=102
(74),102<103<110, AT LA3de A 34 41 465 d5e (6 B 1)
SRSk AL

5. (1)(45+37)x2=164( k), 164x4=656( % )
(2)45x37=1665(-F 7 * )

(3)164+4=41( %), 41x41=1681(F 7 %)

EL IG5 /NG AR BR8] )= 1, BT LL/ING /N
B EARXT , PR/ INEFE 5 5 )=, Bt IV S5/ IVBEFE 1
545835 .6 540, /IMRINZE TS H/INAT)
K, XHEA/INEFBS05 HNBE R T 1S5k, Br
PI/INRIS /MBI R, A/ INRAE 6 5, WIIVEEFE 3
S8 A/N R BETE 4 5, R R RE S/ S BRAH
A8, BT LARESAE 15 IR Bt A2 2 5.

FATU(H4])



